26 Chapter P Prepuration for Caleulus

Test Form A Name . Date S
Chapter . " Class _ Section

1. Find all intercepts of the graph of ¥ =-.";*_'§

@ (2.0 ® (<2,0,6,0) @ (0.2) 6.0
@ (~2.0% (0. -::'-) o () Noue of these -

" 3, Determine if the graph of y = ;,7-5;_-3 is symmietyicsl with respect to the x-axis, the y-axis, of the origin.
(a} Aimut' the x-nxis () About the y-axis ‘ . () Aboutihe ozigi_n

(dy Allof theso (e) None of these

3 Fiqél'allpointaofimmecﬁon of the graphs of #* ~ 2x — y = 6aﬁdx ~ym=—4
. @ ©0,-0 049 - © (o) (10,14),(13,17) © 5,922
@ (-5, -1.{2.6 () None of these:

4. Whih of the followia is a skotcl of the graph of the functon 3 = A1
SR A ' ) ;

o /f |
iR j .

.
Nl

(¢) None of these

§, Find an equation for the line passing through the point (4, — 1) and perpendicular to the
line 2x ~ 3y = 3. : _
@ y=§x--l ' : {I:_)S;+2y+2=0 (¢} x4 3y =10

o +2=10 {e) None of these
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Chapter P Test Bank_ 31

6. and'modomaiuoff(xnﬁl__ﬁ
S e o) @
. (d)(*oo.%)u(%. uo) (e) None of these

7. Bind f{x + Ax}for fix) = 22 + 1.

) ¥ +1+ A - () 2 + 3%(Ax) + 3x(Ax + (AxP + 1
© A+ A0+ Akt )

{e) Noneof thess -

8. IF o) = -};andg(x) =1 — A, find flg0).

o L K 1
(d)—‘-;n—xz : © (¢) Noue of ttiese

" 9, If the'point {3, §) Hies on the graph of the equation 2x + &y = —~11, find the value of £.

@ "‘:i : ®) 34 {0 ~¥
@ ~10 (e} None of these

1

. 10, ‘Which of the following equations expresses y s a function of 7

@ +x~9=17 () Wy+xmdy ‘ {c) Bathaand b
(3) Nelthes anorb @ 3P~ =5

11, Given f{x) = 2% ~ 3x-ll4.ﬁndf(x+ 2~ A2, .

ORCIE PR I ® 24z ©@xtx-8
D -4 (e) None of these
12, Determine which function s nelther even nor odd, X
@ M) =ws ) fR).m 3 S84 © ) =35
@ ) = T ET () Bothsand b
13, Find the polat st Tes on ths ine determined by the pobts (1, ~2) and (~3, .
(8 0.0 _ o GH () (4.-6)

@ G, -5 © (-2,0)
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28 Chapter P Pnpﬁtlonﬁr Calonlus

14, The domain of the function f showa in the figure is ~4 £ x § 4, Choose the complete
. graph of f it f is even, ’

® G

e} . ) 7+

15, Describo the transformation soeded o sketch the graph of y = L uaing e graph of £ = L
(@) Shift f{x) two units to the right. '
' @) 'Shift 7(s) two units tothe Ioft,
{c) Shift F{x) two units upward,
@ Shift f{x) two ullllis‘dc;wnwai‘d. '
(&) Reflect f{¥) about the x-axis.

16, Usb the vertical linis teat to determifie which of the following graphs represent y as a function of x.
(a) :

~N T,
‘y-i 1B

RCHEEE I ;

i £

{e) None of these
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Chupter P Test Bank

. 1 I
1. Let f = {x %<0, pind £3),
& 2x+1, x20 .
®: ;OF @7
{d) Undefinsd © -523

18, The dollar value of & product in 1998 is $1430, The valus of the product is expected to increase
$83 per year for thenext 5 years. Write a linear equation thet gives the doliar value ¥ of the product
in-terms of the year ¢, (Let £ = § represent 1998,) . : :

(@ v=1aao+s;(:;8) ) v=383+1430¢ - “(€) V= 1430 + 8¢
() V=B34 143004 B) (6) V= 1430+ 83+ 8) - ' '

19, Duting the firsy and sscond quasteto of the year, a busiases hud salos of $150,000 aid $185,000,
respectively. If the growth of sales follows a linear patern, what will sales be during the foutth quarter?

(@) 8220000 (v) $235,000 ' (c) $335,000
- {d) - $255,000 {e) MNonp of these -

20, In onder for a company to realize a-profit in the manufacture and sale of a cettain item, the
tovenpe, R, for selling x ilems must be greater than the cost, C, of producing x liems,
If R = 19.99x and C = 61x + 1050, for what values of » will this product refurn a profit?

;(a).rzss o myxzs © %218
@) x256 . . (e) None of these

©Houghton Mefin Company. AR rights reserved.



_Chapter I Test Bank 41

ﬁ_l‘est FormA . © Name . Date :
Chapterll Class ___ Section _____. _

1, Find llsy (3% + 5).
{a) 41 : . by 17 , (o) 11
oMo . {e) None of these

8 sush tha - 11 3} < Q1 w!'; ever < [r — 3 < &
. } 0,05 . (C’N ' .
-\, {e)\Nene of these _

t|
0
'{S—x. x#1l :

3. Use the graph o flnd 1w £10) 1 70

. = lo . xX= |y
@ 2 ' 1
© % o (d) The Timit does not exist,

{e) None of these ‘

2+l

4 Find lm, =g +1 )
@0 (b) oo o -t
(@) The Emitdoes not exist, (e} None of these
5. mmm o
@1 M 3 ' © -1

@3 (¢) Nons of these

-1 w2 o tim L2
6. Ifx’lhl_’;ﬂx) 2and,l‘mg(,v) 3.ﬁudlim 0

s g
@ -3 ® 3 | © -3
L@ -3 " (¢) Noneofthess

© Houghton Niftin Gompany. AN Fights reserved.



42 - Chapter I . Limiss and Their Properties

-2
7. Rind the Jimit: nmx,_4._

(a) 0
(VI

SitA-

8. Find the limit: g X",
(@ 0
@1
9, Find the tircit: limn .
3Ix— [RE]
@ 0

@ 'I‘helimltdaesnutexiut
16. Find the fimit: lim seo 2%,
- =2 3
C @ -2
o
OF
: . =
11, Fiud the it Tig ==

@ ¢
(@ The limit does not exist,

12, Find the limit: xl_i_gg 2% = 5.

@ 1
(d) The Hmit-does not exist,

P
13, Fisd the limit: tim ——.
© {a) o0

@ -3

1
o) 7

(¢) Noue of these

‘1'
(b);.

() None ofthese

EOR
(o) None of these .

2
‘01)\/5_

{e) None of these

. ki
o) ry

{e) Nore of these

®o
{¢) None of these

® -co

"(e) None of these

(c} oo

{c) oo

.{c)&l'

©1

(c) 24

{© 0

© Houghion Miffin Company. AR rights raserved.
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© Hougion Mifffin Company. All rights reserved.

‘4 Find the limit: lim Yo z)g '
@ ) —oo R
) % . ' (e} None of these
15. Fiod ot By (2+ 3 )

@7 ® 2 (©) oo
a4 A (c) None of these

16, At which valuss of z is f(x) = __2“2_ 3 dscontinuous?

@2 ®-1.23 @1
@ 1,523 () Now o tes
17. Let flx} = m and g(x) = 4% ~ 5.Find all valuea of x for whieh ftis dimntinuous
RO Bt N _ L@ ~LESS (© zJ‘
(d) - 2, 2 - (e) None of these
18. Deletmlnn the value of ¢ o that f{x)is coniinnons on the entu'e real line when f(x) {c; 2,:,‘ : j i .
@ 0 | ®) § ‘ © 1
@ ¢ . _ (e) None of these

19, Pind al vertoalssyiiote(s)of 13 = 222,

@ x=~2x=3 @) x=~2 @ =3
{@ x=1 . © (e} None of thess : :
: X ] x+3
20, Find et vertical asymptow(g) of g(.\:)_ o prapepy Y
{a) xﬂ';'%‘xﬂl {» xww%' e x=1

@ y=1 _ * {0) None of thess



- Chnprsré Differentiation

fl?esi Form A
Chapter 2

" Class

Name

- Date

Section

1. 1F () = 242 + 4, which of the following will calculate the decivative of f(x)?

® [z(x.+. Bx) + A:] - (223 + 4

® ““Eo(zﬁftté*A:;-(Zx’-kﬂ
2 —
o i Brtod L ESED)
@ (z.zi+4+nzx;— @2+ 4
(¢) None of these
- iaiey.y = AE 002
2, Differentinte:. y rpp—
, @ =1 ' () ~2cacx-
=2 '
@ '(i'f.'"%ﬁ)? (e) Nong of these
3, Find dy/dzfory.= (O)/5 F L.
3 ® (7x + 6}
@ T RV T
T3+ At e
O FTT (¢} Nomo of these
4, Find £} for f() = (25* + 5Y.
(@ (4 ®) @) )
@ 7(22 + 5 () None of these
8 ﬁnﬂ%fo{y = oo,s’-b:.-
- (a) —~Bcosdx () 2sindx
(@) =32 cos by (e) None of these

(© 20mx

© MJx+1

() 2842 + 5)*

(€) 4cosdx

eﬂmmmmmmmm



Chapter 3 Test Bank 35

6. Thio position equation for the movement of a particlo s given by s = (7 ~ 1)® when 5 is messured
. in feet and 15 measured in seconds, Rind the acceleration at {wo seconds.

() 342usite/sec? © (b 18 units/sect {c) 288 units/sect
() 90units/gec? () Nons of thege

'#.m%iﬁﬂ—mﬂiwm. :

o xky 3y -2k : s 2
@) --zf ' . (e) Nome of these

8. 'Find y if y = sinx + y). )
. cos(x + O
_(a)ﬂ R ,(b)l_:}:s_(x—%ﬁ (c)cx.:s(.x-i-‘y)
@ 1 0] None'ofthese
9. Dlﬁfﬁ;enﬁma: y = sectx + tant x,
@ 0 (b) tanx + sectx {6) nec? x(pec?x + tan® x)

@ 4socxtany " (e) Noneofthese

10. Find the derivative: s{f) = o8¢ -%f

W @29 (e) None ofthess

N Y. 1.4 .1
{a) "cw'icot'i (b} -'icotzi ©) Ecsc-icot-i

@ jeRg | (6) Noe of these
E 11, Find an equation for the tangent line to megraphofﬂx) = 2 - x4 3atth§poimmrex = 1.
% @ yEu-2 L) y= sttt @y=224+1"
= @ y= 42 <=6x+2 (e} None of these
g 12. Findall pdinmgnthé graph of f(x) = — + 35% ~2at which there is a horizontal tangens line.
§ W o-267 .m0~ (© (1,0), {0, -2
g
?



58 " Chaptor 3 Differentiation

. 13, Find the instantaneous rate of change of w with respect to zifw= -5%

; 14
® g_z (b} '!;Z . %
L. 14 ' .
) ~38 : {e) Nona of these

* 14, Lot p(x) = fix)glx}. Use the figure to find p'(5)
@7 . o 3
© 0 ) 24
" (8). Nerie of theso -

15. A'pnintmovesnlongﬂgecuwey = 2%+ 1 in such & way that the y value is decreasing at the rate
' onunits;Gatsoconﬂ.Atwhptramisxchmgingwhonx= ' :

® increasing § unit/sec (b) decreasing § uait/sec (c) decrensing J unit/ssc
(d) increasing § unit/sec (e) None of thise

16. Assume f'(c}-_H —4, ¥ind £{—c) if £ 18 an odd function.

@ 4 ® 90 ©-3 @ —4 {e) None of these

@mmmMM@u’m
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Test Form A - Name Date
Chapter3 . ‘Class __ . Bection

1, Find all open intervals on which the function fley = x’ﬁ y is decrensitig.
@ @.0) - ® (~22) © (~o0,0)
(@) (—o0, o0) . {6) None of these . :

2. Findall eritical numibers for the fimction f(x) = = ;

(a) 1 ) ® 1,-3 ¢y ~3
@ 1,-1 © (&) Noue of these '

3. Find the valuss of x that give relative extrema for the furction f(z} = 3¢° — 54
(8) Relative maximon: x = 0; Relative miiltmmn: x= JS573
(b) Relativs maximuin: x = —1; Relative minimurs x =1’
(¢} Relative maxima: x = 1; Relative minimum; x =0
() Relstive maximum; x = 0; Relative minima: x = 1

(e} None of these
4. Find all inwnralslm‘: wlﬂcﬁ the graph of the function is concave upward: fx) = xz; 1. '
(@) (wo000) . ®) (oo, ~1) and (1, o) (¢} (~oo0, 0) and (0, o0}
@ (1, 00} () None of thest
5. Let f(x) = dx* — Zxand let f{x) have criticat numbers 1, 0, and 1, Use thé Second Derivative Test
- todetermine if any of the critical numbers gives & refative maximum, ‘
£ @ -1 o 0 @1
- @ -ladl =~ {c) None of these
ok
-E. 6, Find tho limir. 1y 2232 +.3,
. Farevy 3+ x
- (@ -§- D © 1 ‘@2. (e Noasoftheso
g 7. Which of tﬁo'followius_ functions has a horizontal asymptote at y = 27
4 =2, 2 , 2 Gt L
® %5 LY~ ) A T

o %—l— f (&) Nong of these

+1



" 68 Chapter’3 _ Applicasions of Differentiation

§ Find he limit: Jim (% + V& ¥ 3).

(@) ~co o ~4 - ' 0
@y ~3 {¢) Nons of these

" 9, Find all points of inflaction: f(x) = fie = 2% + 15

@.(2,0) ) (2,0.(-2.0 (0 {0,15)
@ 2%.(-2%) o) None of these :
" 10, The managenent of & Ipsge store wishios to add a fenced-in rectangular storage yard of
. 20000 squase feet, using the building 25 one side of ths yard, Find the minimum amoun .
" of fenélng that must be vsed to enclose the remaining 3 sides of the yard. . -
(a) 400R : () 200t (©) 20,000 ft
@ soof (¢} None of these '

11. Use the graph of £ given in the figurs to chaose tho trué statement about f;
" (&) 7 iadecreasing on the interval {0, oo}, '
() fhas a relative maxinmm gt x < 0.
.+ {0 fisincreasing on the intetvak (~1,2).
{d) f has avelative minimumn at x = 2.
~ {8) None of these

12, State why Rolle’s Theorem does not apply to the fonction flx) = "(x_-%'f?m the interval [~2, 0}

() fis not continuous on [—2, 0], (b ﬂ"é) % fl0)
(@ fismtdlflerenﬂableatx= -1, (d) Bothgande,
. {ey None of fese :

. 13, Find all extreime in the intervat [0, 2wify = 5 + sinx.

@ (*f'—lq'gzg)'(“'“) - ) @ 20,0 0

) @m2m)m ), ' ) (m 0 (0,0
(&) None of these a

. © Houghion Millin Company. Al fights resere!
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Test Form A Name : .__ Date
" Chapter 4 ~ Class - Section

1. Evalugte the integrai: I 2/; dr.

@ 3+ c ® f3rc @ 5+
@ g+ e o) Noneofthese

2. Eveluate the integral: Istxmx&._
(8) Ssec’xtanx+C ®) Saecx+ C @) fsectxtanx+ C
(@) S[sec?x + secxtan®x] 4+ C  (¢) None of these ‘ '

3. Bvaluate the integral; J.f-—fﬁdn

L @A eRtC ) 2x+C ’ (c).%’+x+c
{d) _2.&-%;‘_:_1_ {¢) None of these
" f sin?8
4, Bvaluate the integral: mdﬂ. '
e ' ’ - o0s §[3 ~ 3 cos® 6 — 2ain? 6]
. @ —wmotC (b) cos 0+ C e T
g @ jaerc (€) None of these
% . 8. Find y = f{& IE£700) = 22, £/(0) = 7, and f(0) = 2. : :
we+y R AR ) @At
@ ¥+ 84x+ 24 (¢} Noae of these _
5 6 Use a(t) = - 52 fest per second squared as the accelsration due to geavity, A ball is ﬂnown vertically
upward from the ground with en initial velocity of 96 fost por second, How l_tigh_will the ball go?
é {ay 32 fest .« (b) 04 feet c) 24 fest
@ .

(@ 144 fest _ (@) Non of these



"8 Chapror4___Integration

. : 0 :
7. Use the properties of sigoa notation and the summation formulas to evaluate the given sum:_ﬁ(i’ -2+ 3).
. : =1

{6) 83  ' ) 245 T (o) 205
{d) ‘81 ~ {e) None of these

9, Let f(¥) -{3- %23 tige geometrlo formulas to find fsf(x)dx |
‘ 6—x x>3% ~ o "
(@ 15 ' {ty 13 : (c) 11

(@ 30 ' (e} None of these
10, Use fhe Fundamental Theorem of Calénlus to evaluate the integral: r S dx.
o 1

L@ w-%¥ - @
@ % (e) None of these

11. Find the 'avemgg-walue of f(x) = 22 + 3n the interval [0, 2]
w4 . oY% NGRS
@ 27 . (&) None of these

12, Evaluste the imtegral; | ¥*(° + 5)%dx.

)] *;I(x’*i-S)’-iﬂC (b)%{x"-i-s)'-i-c - (c)"3 2':57.-1-0

@ -";(55 + s:;)‘ +C (e) None of these

13, Evalisate the integral: J:Ix -~ 1} dx.

® 0 - @1 © 4
@ 2 ) : {e) Nons of these ‘

@mmmmwm
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14. Evaluate tho integral: J cos Ixdt. .

@) sindx+C () —sinds+ C (@ -endl+cC
@ sk C : {¢) None of these

15, Bvaluate the integral: 'fol - xdx.

i - on 2= Lo _
{a) ‘3(1 -x)’;‘ +C (» 2‘/i.._...;~!-_¢:‘ © 3(1 e C

@ _'.1.?5_(2 +30(1 ~ A4 C  (e) Nono of these

{c), 2.5000




Answers to CHAPTER F Tests

b 4 4

Test Farm A

1. d % ¢ 3¢ 4 a
5 d 6. a 1. b g b
4 e 1. b 2. b
13, d Md. 15 16, d
Answers to CHAPTER 1 Tests
Test Form A

LY EX N 3a 4, 8-
5, d 6 ¢ 7. b 8 9
9.4  1a 1L i2.
1By 14 a 15, ¢ 16, &
1. d 18. b 9.0 20, ¢
Angwers to CHAPTER 2 Tests
Test FarmA

Le 2 4 3b Ao
5 d 6a . Tbv b
9d 10, ¢ e  12a
13, d 145 18, b 16. 4
Answers to CHAPTER 3 Tests
Test Ful;mA .

L.c 2, e A - 4 ¢
‘58 6 b 7 ¢ 8 b
"9 d Wa e  Md

Answers to CHAPTER 4 Tests

Test Form A

t.a- &b Aec 4 a

5 b 6 d ¢ -

9, b 10 d 1L b 2. @
C13b ", 4 15, @

i6. a



